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10.

3—g9Ye ECLNAND 7T &1 uRuel k@
Red 3R U@ HRI-—figia o =T & |

Realise logic function F (A,B,C,D) => m (2,3.,8,
9,10,12,13,14) using basic logic gates only.

difsi® B9 F (A,B,C.D)=Y m (2,38,
9,10,12,13,14) @I ddd Hifeasd odifsre e
BT AT B FTd DY |

OR(372rd)

Explain the following terms-

(i) DTL

(i) PMOS

frr=ifeafRaa gl @1 s & |
(i) DTL

(i) PMOS

Draw logic diagram of full adder and write its
truth table. 8

BA—USY B diferd SRIU™ Rad 3R
s GI—aRvll &1 ford |

OR (3121a1)
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2019(Even)

Sem. 1V - EC ENGG./EC & CE
D.E-1I

Full Marks : 80
Pass Marks : 26

Time : 3Hrs.

Answer all 20 questions from Group A, each question
carries 1 marks.

Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question
carries 4 marks.
qu-B 4w uig gl & SR <, 9AS U BT 4 435 ¢ |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg vl @ SR <, TS U & 99 83(®H 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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Explain the following terms-

(1) Fan-out

(i1) Figure of merit

frr=fafaa uql @1 s a1 |
(i) T3S

(i) PR 3ffe AR

What is race-around condition and how is it
removed?

Yg—3rIsve uRReafa @r 2 s s@
&9 g fHar simar 287

OR(3721d)

Explain serial-in, serial out shift register.

HRIa—s4, diR¥a 3mse Rige forex
T qui-] &Y |

04028

(i)

(iii)

(iii)

(iv)

3 21401
frfafRaa 9 9 +19 NAND TRy @
(31) AB
@) AB
(|) A+B
(g) A+B

Base of Hexadecimal number system is

(a) 8
(b) 16

(c)2
(d) 10

RIS RAe ST YoITell T JTER.........
BIdl &

(&) 8

() 16

(|) 2

(=) 10

Which of the following relation is correct
(a) A+0=A

(b) A+1=1

(c) A+A=A

(d) All of the above

P.T.O
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ga+v ()
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g+v (9)
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(xx) HI$—12 PSS Bl———— Yellg—valiy
@ STwRd BIdl B |
(1) ar
(@) @
() a1
(%) uf=
GROUP B

Answer all Five Questions.

gl uig g3 & SN < |

2.

5x4=20

Explain 1's complement with the help of an
example. 4

I's dftcTic &I ARAT T 3TV &l
eIl 9 bR |

OR (3121a1)

Solve the following terms:-

(1) (11011.10), = (?)q

(1) (1110101), = (?)4¢
frr=ifafaa usl &1 8 & |
(1) (11011.10), = (?)g

(i1) (1110101), = (?)4¢

04028

(vi)

5 21401

FR A=1,B=1,C=0 8, d9 AqgcH
(31) A+B+C
(¥) A+B+C
(|) A+B+C
(%) A+B+C

(vii) :)% This is a symbol of ------ gate

(a) EX-OR
(b) EX-NOR
(c) OR

(d) AND

wi) —)p—— qE ———— e @1 fas 2

(viii)

(31) EX-OR
(@) EX-NOR
(|) OR
() AND

3-Variable K-Map has-------- cells.
(a)3

(b) 6

(c)8

(d) 10
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Half d
(xvi) Bo— Subtraactor ——b="2?
(31) b=AB
(3) b=A+B
(") b=AB
(%) b=AB

(xvil) Monostable multivibrator has----stable state

(a) Two
(b) Three
(c) One
(d) Four

(xviil) AIC T qgH IS A————Kdd &<C

ghar 2
(@) <1
(@) d=
@) >
(3) IR

(xviii) S-R Flip-Flop is set, when

(a) S=1, R=0
(b) S=0, R=0
(c) S=0, R=1
(d) None of these

04028

x)

(xi)

(xi)

(xii)

7 21401

fa=faRaa & @ @19 HAifas e
i 8

(31) AND

() ORrR

(") NOT

(%) Suraa g+

Which of the following belongs to saturated
logic family

(a) RTL

(b) TTL

(c) ECL

(d) Both (a) and (b)

frafaRaa 9 4 @9 9q@ difses
wiafer @ wag 2

(31 RTL

(@ TTL

(|) ECL

(®) (@) 3k (@) <m=f

Which one of the following is fastest of all
logic families

(a) CMOS

(b) TTL

(c) ECL

(d) RTL
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11.

Design a MOD-4 asynchronous counter.

MOD-4 3ifisIg ®1eex &1 f=rafor & |

Explain binary to octal and binary to hexadecimal
conversion.

8
915 ) A 3fided X 959 A a1 sRima
[UTARYT Bl ARAT B |

OR(3721d)

Write short note on any two of the followings-
(1) Ring counter

(i1) Encoder

(i11) Gray code

frfaReaa 4 9 &3 1 = wfera fewofi
fore |

() R d18ex

(ii) SPIST

(i) T drs

L
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11.

Design a MOD-4 asynchronous counter.

MOD-4 3 I- ®ISex &I frHfor & |

Explain binary to octal and binary to hexadecimal
conversion.

8
915 A 3fided X 959 A a1 SRma
[UTARYT Bl ARAT B |

OR (372rd)

Write short note on any two of the followings-
(1) Ring counter

(i1) Encoder

(ii1) Gray code

frfaReaa 4 9 &3 <1 = wfera fewofi
ford |

() R +18ex

(ii) STPIST

(i) T Brs

fhk
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